
𝑥 + 2 = 3 

𝑥 = 3  3𝑥 − 4 = 5 3 × 3 − 4 = 9 − 4 = 5 

5 − 𝑥 = 6 4𝑥 − 3 = 5 −2𝑥 − 1 = −1

𝑥 = −1 5 − 𝑥 = 5 − (−1) = 5 + 1 = 6 𝒙 = −𝟏

𝑥 = −1 4𝑥 − 3 = 4 × (−1) − 3 = −7 

𝑥 = 0 4𝑥 − 3 = 4 × 0 − 3 = −3 

𝑥 = 1 4𝑥 − 3 = 4 × 1 − 3 = 1 

𝑥 = 2 4𝑥 − 3 = 4 × 2 − 3 = 5 𝒙 = 𝟐

𝑥 = −1 −2𝑥 − 1 = −2 × (−1) − 1 = 2 − 1 = 1 

𝑥 = 0 −2𝑥 − 1 = −2 × 0 − 1 = −1 𝒙 = 𝟎

1 + 2 = 3 1 + 2 + 5 = 3 + 5 

2 + 3 = 5 2 + 3 − 1 = 5 − 1

1 + 2 = 3 (1 + 2) × 5 = 3 × 5

2 + 3 = 5 (2 + 3) ÷ 5 = 5 ÷ 5

𝑥 + 2 = 4 𝑥 = 2 

2𝑥 = 4 𝑥 = 2 

𝑥 − 2 = 2 𝑥 = 4

 
𝑥

2
= 2 𝑥 = 4

𝑥 =  

𝐴 = 𝐵 

𝐴 + 𝐶 = 𝐵 + 𝐶

𝐴 − 𝐶 = 𝐵 − 𝐶

𝐴𝐶 = 𝐵𝐶
𝐴

𝐶
=

𝐵

𝐶
𝐶 ≠ 0



𝑥

𝑥 = 

−𝑥 = 𝑥 = 

𝑥 − 3 = 5 𝑥 + 4 = 1 2𝑥 = 8
𝑥

5
= −3 −𝑥 = 1

𝑥 − 3 = 5

𝑥 = 5 + 3

𝑥 = 𝟖

𝑥 + 4 = 1

𝑥 = 1 − 4

𝑥 = −𝟑

2𝑥 = 8

𝑥 =
8

2

𝑥 = 𝟒

𝑥

5
= −3

𝑥 = −3 × 5

𝑥 = −𝟏𝟓

−𝑥 = 1

𝑥 = −𝟏

𝑥 = 

𝑥 = 

−𝑥 = 𝑥 = 

6𝑥 + 12 = −6 𝑥 − 4 = 2𝑥 + 3 2𝑥 + 1 = 5𝑥 − 11 0 = 𝑎 − 3𝑎 − 5

6𝑥 + 12 = −6

6𝑥 = −6 − 12

6𝑥 = −18

𝑥 = −𝟑

𝑥 − 4 = 2𝑥 + 3

𝑥 − 2𝑥 = 3 + 4

−𝑥 = 7

𝑥 = −𝟕

2𝑥 + 1 = 5𝑥 − 11

2𝑥 − 5𝑥 = −11 − 1

−3𝑥 = −12

𝑥 = 𝟒

0 = 𝑎 − 3𝑎 − 5

0 = −2𝑎 − 5

2𝑎 = −5

𝑎 = −
𝟓

𝟐

𝑥 = 

5𝑥 − (𝑥 + 9) = 7 2(𝑥 − 1) = 3(𝑥 + 1)

5𝑥 − (𝑥 + 9) = 7

5𝑥 − 𝑥 − 9 = 7

4𝑥 = 16

𝑥 = 𝟒

2(𝑥 − 1) = 3(𝑥 + 1)

2𝑥 − 2 = 3𝑥 + 3

−𝑥 = 5

𝑥 = −𝟓



0.5𝑥 + 0.2 = 0.3𝑥 − 0.8 0.3𝑥 − 0.1 = 2𝑥 + 3.3 0.02𝑎 = 0.1𝑎 − 0.16

0.5𝑥 + 0.2 = 0.3𝑥 − 0.8

5𝑥 + 2 = 3𝑥 − 8

5𝑥 − 3𝑥 = −8 − 2

2𝑥 = −10

𝒙 = −𝟓

0.3𝑥 − 0.1 = 2𝑥 + 3.3

3𝑥 − 1 = 20𝑥 + 33

3𝑥 − 20𝑥 = 33 + 1

−17𝑥 = 34

𝒙 = −𝟐

0.02𝑎 = 0.1𝑎 − 0.16

2𝑎 = 10𝑎 − 16

2𝑎 − 10𝑎 = −16

−8𝑎 = −16

𝒂 = 𝟐

1

2
𝑥 − 1 =

1

3
𝑥 + 1 −

1

4
𝑥 +

5

6
= −

2

3
𝑥

2𝑎−1

6
= −

𝑎+5

9
+ 2

1

2
𝑥 − 1 =

1

3
𝑥 + 1

( 
1

2
𝑥 − 1 ) × 6 = ( 

1

3
𝑥 + 1 ) × 6

3𝑥 − 6 = 2𝑥 + 6

3𝑥 − 2𝑥 = 6 + 6

𝒙 = 𝟏𝟐

−
1

4
𝑥 +

5

6
= −

2

3
𝑥

−3𝑥 + 10 = −8𝑥

−3𝑥 + 8𝑥 = −10

5𝑥 = −10

𝒙 = −𝟐

2𝑎−1

6
= −

𝑎+5

9
+ 2

3(2𝑎 − 1) = −2(𝑎 + 5) + 36

6𝑎 − 3 = −2𝑎 − 10 + 36

8𝑎 = 29

𝒂 =
𝟐𝟗

𝟖



 𝑎: 𝑏 = 𝑐: 𝑑 

𝑎𝑑 = 𝑏𝑐

2: 6 = 1: 3

𝑎: 𝑏  
𝑎

𝑏
 1: 3

1

3

𝑎: 𝑏 = 𝑐: 𝑑 
𝑎

𝑏
=  

𝑐

𝑑
  𝑏𝑑 𝑎𝑑 = 𝑏𝑐 

𝑥: 3 = 8: 12 6: (𝑥 − 4) = 2: 3

𝑥: 3 = 8: 12

𝑥 × 12 = 3 × 8

12𝑥 = 24

𝒙 = 𝟐

6: (𝑥 − 4) = 2: 3

2(𝑥 − 4) = 6 × 3

2𝑥 − 8 = 18

2𝑥 = 26

𝒙 = 𝟏𝟑

𝑎: 𝑏 = 𝑐: 𝑑 𝑎𝑑 = 𝑏𝑐 


